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1 Introduction

The scenarios for the interaction of IP based & TDM signalling networks are described in Chapter 6.3 and these can be realized by M2PA. 
2 Discussion

When the IP based signalling network uses protocol stack as MTP3/M2PA/SCTP/IP, the signalling network management is applied by MTP3, the same to that of TDM signalling network. 
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Figure 2-1:  MTP3 managing M2PA and MTP2
When the M2PA link set and MTP2 link set are set the same priority in the routes to the destination, the IP based signalling network and the TDM signalling network work in load share mode. When the M2PA link set is set the higher priority in the routes to destination, the IP based signalling network works as norm route while the TDM Signalling network works as backup one; When the MTP2 link set is set the higher priority in the routes to destination, the TDM signalling network works as norm route while the IP based Signalling network works as backup one. The message routing and the refreshing of route table are all applied by MTP3.

3 Proposal

This contribution proposes adding a new text to TR 29.801.
*** Proposed Change ***

8.2.x
The Interaction of IP based & TDM signalling networks realized by M2PA

When the IP based signalling network uses protocol stack as MTP3/M2PA/SCTP/IP, the signalling network management is applied by MTP3, the same to that of TDM signalling network. 
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Figure 8-3:  MTP3 managing M2PA and MTP2
When the M2PA link set and MTP2 link set are set the same priority in the routes to the destination, the IP based signalling network and the TDM signalling network work in load share mode. When the M2PA link set is set the higher priority in the routes to destination, the IP based signalling network works as norm route while the TDM Signalling network works as backup one; When the MTP2 link set is set the higher priority in the routes to destination, the TDM signalling network works as norm route while the IP based Signalling network works as backup one. The message routing and the refreshing of route table are all applied by MTP3.
*** End of Proposed Change ***
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